Name _______________________________________________________
Exam I, Math 0900, Summer 2006 

1. Perform the indicated operations.  Put the answer in lowest terms.
a. 
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2. Match the points to the quadrant they belong to.

a. (-1,5)
A. Quadrant I

b. (4,-3)
B. Quadrant II

c. (-2,-2)
C. Quadrant III


D. Quadrant IV

3. Simply the expression 
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4. Simplify the expression 
[image: image4.wmf])

7

(

15

)

7

4

(

3

)

2

7

(

5

3

-

-

-

-

-

-

-


5. Solve the equation for x.
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6. Solve the equation for t.  
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7. 32% of what number is 51.2?

8. The sum of three consecutive numbers is 315.  Find the numbers.
9. Solve the linear inequality.  Graph the solution on the number line, and then state the solution in set notation.
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10. You invest $40,000 in two accounts paying 7% and 9% annual interest, respectively.  If the total interest earned for the year is $3100, how much was invested at each rate?
11. Solve the proportion for the unknown.
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12. The maintenance bill for a shopping center containing 60,000 square feet is $15,000.  What is the bill for a store in the center that is 9600 square feet?

13. A rectangle has a length which is five feet longer than its width.  The perimeter of the rectangle is 48 feet.  Find the dimensions of the rectangle.
BONUS:

The angles of a triangle are three consecutive integers.  Find the values of the three angles.  [Hint: recall that the angles of a triangle must sum to 180 degrees.]
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